* K -1217 %

KJ-1217

B.Com. (Part - I11l)
Term End Examination, 2020

Group - A
Paper - |

Financial Management

Time : Three Hours] [Maximum Marks : 75
GICAEEE < 1 B o OSSR s Lo s e = T
oA €|
Note : Answer all questions. All questions carry equal
marks.
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What do you wunderstand by Busness
finance? Discuss the functions of the
finance manager of a large organisation.
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What considerations would you keep in
mind while drafting a financia plan for an

industrial concern ? What are the limitations
of such plans?
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What is Capital budgeting ? State the factors
affecting capital expenditure decisions.
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g fdo TH TR Tl & foRR & @l
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1 50,000 20,000
2 40,000 30,000
3 30,000 50,000
4 20,000 40,000
5 20,000 40,000

T foedi @1 Hodied wifW, WA Hd
gl :
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(b) T-9% *F dIC H AISERA Afd H
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Vaibhav Ltd. is considering to purchase a
machine. Two machines A and B are available,
a the cost of ¥ 1,20,000 each. Earnings after
tax but before depreciation are likely to be as

under :
Year Machine A Machine B
T T
1 50,000 20,000
2 40,000 30,000
3 30,000 50,000
4 20,000 40,000
5 20,000 40,000

Evaluate both the aternatives by using:
(a) Pay-back period method
(b) Post Pay-back profitability method

Zh18 / Unit-111
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Define Cost of Capita. How will you

determine the cost of capital from different
sources ?
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Radhika Ltd. has issued 2000 Equity Shares
of ¥ 100 each fully paid. The company has
earned a profit of ¥ 20,000 after tax. The

market price of these shares is ¥ 160 per
share. The company has paid a dividend of
¥ 8 per share. Find out the Cost of Equity
share capital.
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What is Dividend policy ? Explain the various

factors determining the Dividend policy of a
company.

37947 / OR

185 JDB_* (7) (Turn Over)



(6)
X R Y wmfEt @ gst e e R

X Tdo Y Tdo
3 3

Fehdl HHAT 3TW gSit 50,000 10,000
G 30,000 10,000
9% qaATTEeRR 379 st | 10,000 10,000
8% SRUTTH 10,000 70,000

0 1,00,000 | 1,00,000

NN o N o

M wEafEl o gsit @l ki foa=m wifu)

The capital structure of two companies X and
Y is as under :

X Ltd. Y Ltd.
g g

Paid-up Equity Share
Capital 50,000 [ 10,000
Reserve 30,000 [ 10,000
9% Preference Share capital| 10,000 | 10,000
8% Debentures 10,000 | 70,000
Totd 1,00,000 (1,00,000

Comment upon the Capital structure of both
the companies.
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What is meant by working capital forecast ?
Briefly explain the techniques used in making
such forecast.

3747 / OR
frefafan w dfea fewfrer fafe
(a) THa=T=l ome™r N
(b) Ths W&y & fafy= =R
(c) ABC fawemo
Write short notes on the following :
(&) Economic Order Quantity (EOQ)

(b) Various steps in cash management
(c) ABC analysis

185 JDB_* (7) 240



